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faud : fvTa
Subject : Mathematics

i : 3 uue | [qori : 75
Time : 3 hours | [ Maximum Marks : 73
Az : Wit WY T WA
Note : Attempt all questions.
R/ (7397 : () T IR F SEEEA € |
General Instructions : Graph paper is required.

(ii) FeTFO % FA F AL TEl €
Use of calculator is not permitted.

(i) W FEE 1 ¥ 1 @ve § | @ve (H) | Sgfasheid y, @ve
(@) ¥ fraa @ 71 off a1 @ve (W) § ww/ewa fag T E
TOF Y9 W 1 3 aneifed ®
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true/false are given. Each question carries | mark.

(iv) Wﬁqﬁzﬁéﬁaﬁaﬂ-mﬁqméﬂmmm 2 3f®
areifea &1
Question Nos. 2 to 6 arc very short answer type questions.

Each question carries 2 marks.
P.T.O.

S4C+ (Graph) .
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(2] T3 3
f}ﬂaagaﬂﬁﬂmtlmw &

() TEFIRT R 04
safen €1
Question Nos. 7 © (0 are very sho
Each question camtes 3 marks.
(vi) vy 9% 11 ¥ 14ﬁm-ﬁﬁﬂmﬁlmqﬂﬁm
e ¥ | TR W WA arrafed ¥
Question Nos. 1110 14 are short answer type questions. Each
question has an . ternal choice. Each question carries 4 marks.
(vii) T FAE 15 @ 16ﬂ-ﬁﬂﬂmtnmmﬁmﬁ$
e & | I T W S 3 e ¥
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carmies 3 marks.
(i)W FEE 17 @ 18 Jd-IE W T TaF gEA | NaAE
fameq & 1 TR® T¥T W 6 3F AEA T

Qucﬁ”f‘ﬂ .\l‘l.'l.':- l" .']I".Id 18 arc lg‘lns ANSWOT l}'pk" unSIiOHS_ EﬂCh

t answer type questions,

question has an internal choice. Each question carries 6 marks.

-1 (aus-3) W@ fase TR e
(Part-A) Choose and write the correct option :

(i) c0s249° + sin249° T T T : (1]
(3 1 () -1
(%) 2 (D -2

The value of c0s*49° + sin-49° will be :
(a) 1 (6) -1

(¢c) 2 (d) -2

https://www.cgboardonline.com
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(i) fag (-5, -2) fadais w7 & Suta 3 gy .

(iii)

()

(v)

(#) wem Fq4ta
(%) fgdma wquta

() T wqutn

(2) 994 wqain

The quadrant of the point (~5,~2) in coordinat¢ plane wyj . -

(b) Third quadrant

(a) First quadrant

(c) Second quadrant (d) Fourth quadrant
5 3R 20 1 WgrrE €1 :

() =10 (2) =4

The mean proportional of 5 and 20 will be :

(@ =125 () =100
() =10 (d) =4

: "t w1 fafawet 0 2 9 = g 5 &, @ =0 g@
T

(37) -6 () -5

(7) 6 () 5

The discriminant of the quadratic equation is 0 and first root is
5, then second root will be

(@) -6 “ (b) -5

() 6 (@ 3
ﬁ?ﬂﬂaﬁﬁ-ﬂﬂﬁlﬁﬁ%

(31 139 Q31 9 (?) 199 | 31 3%

(9) 19740 A 31 fegar (D 1A/

The period of financial year is :

(@) 1Apnlto 31 March (&Y 1 March w31 Apnil
(¢) 1 January to 31 December (@ 1 June 0 31 May

(1]

(1]

S-4C+
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T (@ug-m) fg e @ T I

(Part-B) Fill 17 the blanks :
o afe T & fed F T 135 . A, TR ——
il 0

If the length of the diagonal of the cube is 1343 cm, then the

side of the cube willbe

(if) qmﬁwmﬁﬂmmzﬁna&a_—m%. (1]

The sum of an odd and an even number is always

(i) Waﬂﬂﬁwﬁﬁ——-ﬂ?ﬁﬁl (1]
In similar polygons all corresponding sides are in
w79t End @it o wed € | (1]

(v) & TR g I TR

tangents can be drawn from an external point to any circle.

(v) mﬁfa‘mmqﬁaﬁaﬁm.mmﬁmahﬁmwmﬁ
S &, flt —— FEAE [1]
Income-tax Department issues an identification number 10

every person, institution or company, which is known as .

(m—n)muwmfr—:f@q:

uy-1
(Part-C) Write True or False :
- . . 2 T
(i) Tl agTe ax? + bx + ¢ F IR H _EIT g (1]
x &1 U
Sum of zeroes of any polynomial axt+bxtc becomes
coefficient of x2
~ cocfiicientof x |
40+

https://www.cgboardonline.com
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301 1 3 & o _.
(i) % T gEr A7 33Ty T ) B
: - gression > ) )3
In given anthmetic progf®sion = _ _ _ 2 the
2.2 2 2

common difference is -1

2cos80°
sin10°

T OE 2 'O

(1if)

2cos80°
sin 10°

(iv) el 39 %) gum el IFF FZ | AEER A e %)

Value of will be 2.

Equal chords of any circle are at the unequal distance from centre.

v) fag (x,y) # YAx¥i

The abscissa of point (x, y) isx.

3 TG p(x) = 3x2 - x - 5 &, A p(0) 3 p(1) T TH T FIfA

If the polynomial is p(x) = 3:'2-—x — 5, then find the values of p(0)
and p(1).

afE fahdt wo=R Aot 1 90w w2 3 g | AR S €, @ 109 T2 s
F1a Hifag)

If the first term is 3 and common difference is 5. then find the value of
10th term.

A fagaii P(2, 3) 3l Q6 9) R W T T@ T YAOR F@ FHAC
Find the slope of the line passing through the two points P(2, 3) and
(6.9).

e 5, 8, p, 17,6 M 4: 7= wma 15 & D p w1 oww W
|

The arithmetic mean of the data ., 8. p.17.6 and 4 is 15, then find
the value of p.

(1)

(1]

(1]

(2]

(2]

(2]

S4C+
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2
gvA-6  TA 91 R 2]
tan® cotd
co1(90° — 1) tan(90° — 0)
Find the value of :
tan 9 , cotf
cot(90° - 0)  tan(90° - 9)
d C .
g7 W o= B Afgwials 200 (3]
b-d b
La_« a—c
If —=—.thenprovethat — = _9
b d b 5
gya-8  SEIF Bl §A HIWC (3]
x+2y=3
dx+3y=2
Solve the equations :
x+2y=3
4x+3y=2
wA-9 fag Fifau & fa<el @ war@ fam demsd & am 4 F O
TR 3]
Prove that the sum of two consecutive odd numbers is always a
multiple of 4.
uva-10 7 H. S AE e & 9% Y2 i R [3]
Find the surface area of a hemisphere of diameter 7 cm.
S4C+
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e i f a fag @ 99 T G T wmd v €1 et

wyq-11

it # | (4]

Prove that the lengths of tangents drawn from an external point to a

circle arc cqual.

aa
OR
few ™0 fI ABC &, DE||BC % AMAB = (2x - 2) 11, AD = x 7.
AC=(2x + 1)i:rq'1_, AE = (x + zjﬁ'ﬁf.%, Fiix?ﬂtrﬁaﬁafri‘mm
A
B C
In the given triangle ABC. DE|BC and AB = (2x - 2 cm. AD =
xcm, AC=(2x+ 1) cm, AE = (x + 2) cm. then find the value of x.
A
D
B C

W12 I R OE WO W S 3 ol 5 9R w wwon § v fe T g

T @ o e (@ )| o | 3 4 S 6 ?

Tt w5t uftery (A, ) 0| J 2 e | 20 | 24| 28

O & 33 A e T ) 4] ¥
S4C+
P.T.O.
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The table below shows the lengthg of on¢

their respective perimeters -

5 nle

of some SqUAres and

Length of side of < 6 7
square (cm) v l 2 N )
Perimeter of square "
(cm) quarel o g g e 0] !
Draw a graph between the figures ghven in the table.
ryar OR
3 5
IW @ @ F wte Fid Sifeg fagadl @0 T 3 an @, fag

(3.0) H BRI &

Find the equation of straight line which passes through point (3, 0)

and whose slope is

tad | i

https:waw.cgboardonilne.com

WYT-13 5 QRO =7 gieas {@ S (4]
AT 0-10 | 10-20 | 20-30 | 30-40 | 40-50 50-60
gr= 8 30 30 9 7 6
Find the median of the following table :
Class-interval 0-10 10-20 20-30 30-40 40-50 50-60
Frequency & 30 40 9 7 6
T
OR
AT 0-10 | 10-20 | 20-30 | 30-40 40-50 | 50-60 | 60-70
wrgfa 4 % 14 20 30 15 6
Find the mode of the following table :
Class-interval 0-10 1 10-20 | 20-30 | 30-40 | 40-50 | 50-60 60-70
Frequency 4 K 14 20) 30) IS 6
S-4C +
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afe foed) i 5 3 ST F 2 Gy e g ¢ it 7, A

uv1-14 (4]
Jaii s A qr T A AP
If the circumference of base of 3 €ONical cup is 22 cm and height 15
6 cm, then find the maximum capacity of the cup.

ey
OR
TF 901 T A9 3080 v A I FaE 20 A, ¥ qeA FAF
< 714 Fifag
Volume of a cylinder is 3080 cm? and its height 20 cm. Find the ar¢3
of the curved surface.

WA-15 TF DR POR Fi o =it 1y @1 T 3 BNE ABC W TEA
Esiﬁ?rq,ﬁuﬁ',q.&:%PQs‘n (5]
Construct a triangle PQR. Also construct a triangle ABC in

B
which AB = iPQ.
Huar
OR
Y= POR & ftma @ 91 v #ifre, fordd QR = 6 5. _0 = 65,
ZR =40° %1 9 & W 1t fafau)
Construct a circumcircle of APOR. in which QR = 6 cm, 20 = 65",
£R = 40", Write the steps of construction also.
S-4C+
P.1.0.
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gva-16 fada d€ 201314 F UF Wrwn A |
3.60.000 & o1 IFA 20.000 ¥, Sy M giferet a1 afdes Wfoas

4,000 5. WFTE WA i fafy g g (601 33 SRR R A Fifswl (5]
ST O ¥ QW wifgy (4 U W &t anfe § frafod
afe #1 AfUFAR 1.00.000 F. T qag

B Fe aifts s

HTAHT # ¥ fFragER € .
- __-_'-—-.-—.-‘
FHH 7 Tt H ITAHFT &Y X
__---_--'-.—_ r
L ]2,00.000 . &F HIE HNEF g
2 |2.00001 F & 500000 % 7% 10%
BE 3.00.001 € T 10.00,000 5. 7F 20%

TR SUFT 27 AR FT 39, Ty

The income of a government employee in the financial year 2013-14
was Rs. 3.60.000. He'she deposited Rs. 20,000 as premium on lifc
insurance policy and Rs. 4.000 every month in general provident

fund. Calculate the pavable {ax.

Maximum of Rs. 1.00.000 of savings under-general provident

fund and li‘e insurance. etc. are exempted from tax.

The rates of tax are as follows :

S.N. Tax limit Rate of tax
| | UptoRs 2.00.000 Nil
2 |Rs 2.00.001 0 Rs. 500,000 10%
3 | Rs 3,00,001 to Rs. 10,00,000 20%

3% of payable tax is cducation cess.

[T
https://www.cgboardonline.com



(11

ey

Or
wﬁﬁ&mmmﬁﬂaﬁ*fﬂ!mmmmwm
ECIIRC Gl fﬁﬁlr4%mﬁ$mﬁﬁﬂﬁzﬂhmmm¢ﬁm
g £ ?

Puncet opens a recurring deposit dccount in a bank branch for two
ycars and deposits a monthly installment of Rs. 300 How much will

he get if the rate of interest 1s 4% per annum?

wi-17  Fofafen gdufoe ) fag #f90 (6]

’I'-f-cosﬁ I ~cosf
I —cos@ 1+ cosf °
Prove the following identity -
1+ cos® 1-
.JT—-——-—- + ,, cosé = 2cosechH
—cosb 1 +cosh

Jgar
OR

farit A & wd R ¥em F o & i, A A F fawda KT F IR
¥ IFTI FU FEN: 30°7 60° § | 7z T F F9E 60 T . 79 THEI

Fdtg &t g 7@ *ifag
The angles of depression from the peak of a hill 1o two houses on
opposite sides of the hill are 30° and 60° respectively. Find the

distance between the houses if the height of the hill is 60 m.

S-4C+ P.T.0.
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we-18 AR R VAR doft %, 9, e 3, qdf % ATEA FA: S, S, a

§y 8. @ fag Hife fi
$373(8, - 5)) 6]

It the sums of 1. 2y - - - _
ums of n, 2n and 3n termg of an Arithmetic Progression are

S\, 85 and Sy respectively, then proye that

8y =3(5, -5,

HYar

OR

T FATA W AITH WHT W@l A H1 A 164 31 wemd 7
i |

Find two consecutive even positive natural numbers, sum of whose

squares 1s 164.
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